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1. aam9n 4,12

. P : -
A001N 4.12 lun‘nmaao'lﬁ’a'rsmzo}'uﬁ‘zh41mmmm¢n:nm (Guinea  pig)

. 4 > v . A - PR " e
Qququﬂuﬂluﬂﬂ\’ﬂﬂﬂﬂd Llﬂquuﬂnlj"N'\mﬂ"’ﬂ1ﬂquﬂ1ﬁ“ﬂﬂzﬂ']ﬂqﬂ (dosage of death)

o
NaUIIngAi
-~ - a - o P
FITTUAN 1 RITOUAY 2 | RI1TTUEN 3 | ®ITTUEN 4
29,28,23, 17,25,24, 17,16,21, 18,20,25,
26,26,19 19,2821, 22,23,18 24,16,20
25,29,26, 20,25,19, 20,17,25, 20,1719,
. 28 24 21 17
Total : T, 259 222 200 196
mean : X, 259 22.2 20.0 19.6
n, i0 10 10 10
SPSS  Commands uaz Output
ONEWAY
y BY x
JCONTRAST=1-11-1 /CONTRAST=3-1-1-1 /CONTRAST=11-1-1
JCONTRAST=100-1 /CONTRAST=10-10 /CONTRAST=1-100
JCONTRAST=010-1 /CONTRAST=01-10 /CONTRAST=001 -1
/STATISTICS DESCRIPTIVES HOMOGENEITY
MISSING ANALYSIS
/POSTHOG = DUNCAN SCHEFFE LSD ALPHA(.C5).
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Oneway

Descriptives

95% Confidence
Interval for Mean
Std. tower Upper
N Mean Deviation | Std. Error Bound Bound

Dosage of drug 1 10 25.90 3.07 .97 23.70 28.10
death 2 10 22.20 3.49 1.10 19.70 24.70

3 10 20.00 2.94 .93 17.88 2211

4 10 19.60 2.95 .93 17.49 21.71

Total 40 21.93 3.92 .62 20.67 23.18

Minimum | Maximum

Dosage of drug 1 19 29
death 2 17 28

3 16 25

4 16 25

Total 16 29

Test of Homogeneity of Variances
Levene
Statistic df1 df2 Sig.
Dosage of
death .509 3 36 679
ANOVA
Sum of Mean
Squares df Square F Sig.
Dosage of Between
death Groups 249,875 3 83.292 8.545 .000
- Within .
Groups 350.900 36 9.747
Total 600.775 39
Contrast Coefficients
drug
Conirast 1 2 3 4
1 1 -1 1 -1
2 3 -4 -1 -1
3 1 1 -1 -1
4 1 0 0 -4
5 1 0 -1 0
6 1 -1 0 0
7 0 1 0 -1
8 0 1 -1 0
9 0 0 1 -1
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Contrast Tests

Value of Sig.

Contrast Contrast | Std. Error 1 df (2-tailed)

Dosage of Assume 1 4.10 1.97 2.076 36 .045
death equal z 15.90 3.42 4649 36 .000
variances 4 8.50 1.97 4.305 36 .000

4 6.30 1.40 4512 36 .000

5 5.90 1.40 4.226 36 .000

6 3.70 1.40 2.650 365 .012

7 2.60 1.40 1.862 36 .071

8 2.20 1.40 1.576 36 124

9 .40 1.40 286 36 776

Does not 1 4.10 1.97 2.076 35.235 045

assume 2 15.90 3.38 4.700 15.705 000

\C:grl:;ces 3 8.50 1.97 4.305 35.235 .000

4 £.30 1.35 4.677 17.972 .000

5 5.90 1.35 4.385 17.968 .000

6 3.70 1.47 2.517 17.714 022

7 2.60 1.45 1.799 17.518 .089

8 2.20 1.44 1.524 17.503 .145

9 A0 1.32 303 18.000 765

Homogeneous Subsets

Dosage of death

Subset for alpha = .05
drug 1 2
Duncan? 4 10 19.60
3 10 20.00
2 10 22.20
1 10 25.90
Sig. .086 1.000
Scheffe? 4 10 19.60
3 10 20.00
2 10 22.20 22.20
1 10 25.90
Sig. 340 090

Means for groups in homogeneous subsets are displayed.
a. Uses Harmonic Mean Sample Size = 10.000

ST 204
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Post Hoc Tests

Dependent Variable: Dosage of death

Multipte Comparisons

95% Confidence
Mean Interval
Difference Lower Upper
__{(hdrug (J) drug (I-J) Std. Error Sig. Bound Bound
Scheffe 1 2 3.70 1,396 .090 -.39 7.79
3 5.90* 1.396 002 1.81 9.99
4 6.30" 1.396 .001 221 10.39
2 1 -3.70 1.396 090 -7.79 .39
3 220 1.396 A87 -1.89 6.29
4 2.60 1.396 .340 -1.49 6.69
3 1 -5.90* 1.396 .002 -9.99 -1.81
2 -2.20 1.396 487 -6.29 1.89
; 4 .40 1.396 .994 -3.69 4.49
4 1 -6.30* 1.396 .001 -10.39 -2.21
2 -2.60 1.396 340 6.69 1.48
3 -40 1.396 .894 -4.49 3.69
LSD 1 2 3.70* 1.396 .012 .87 6.53
3 5.90* 1.396 .600 3.07 8.73
4 6.30" 1.396 .000 3.47 9.13
2 1 -3.70* 1.396 .012 6.53 -.87
3 2.20° 1.396 124 -63 5.03
4 2.60 1.396 .071 -.23 5.43
3 1 -5.90* 1.396 .0oco -8.73 -3.07
2 -2.20 1.396 124 -5.03 63
4 .40 1.396 776 -2.43 3.23
4 1 -6.30* 1.396 .000 -9.13 -3.47
2 -2.60 1.396 071 -5.43 .23
3 -.40 1.396 776 -3.23 2.43

*. The mean difference is significant at the .05 level.
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ar T J [l 1 [ "3 ar [ [ r Yy s
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Metol 2 7361 (1.5 NFULAZ 2.5 NTU) UBZ Hydroguinone 2 TEéU (4 niuuR: 6 NTW)

- ar L 1 -l’
saluvadmmMEdaNgy 1 fns  ARvaImMTIamuTaEuIs IS AU e e

Hydrogquinone Total
4 6
1.5 28, 30 33,33
Metol yii. = 58 Yiz. = 66 yi.. = 124
2.5 42, 38 40, 42
y21. = 80 y22. = 82 ya.. = 162
Total ya. = 138 y.2. = 148 y.. = 286

SPSS

Commands uas Output

GLM

clear BY hydro met
IMETHOD = SSTYPE(3)
[INTERCEPT = INCLUDE
ICRITERIA = ALPHA(.05)

IDESIGN .

ST 204

Ast204exd414.sav

met

hydro

clear

—

28

30

33

33

42

38

40

o |~ [o >IN | £ (A)\N

NN NN

42
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Geéneral Linear Model

Between-Subjects Factors

Value
Label

Hydroguinone

Metol

N e N =

4 Grams
6 Grams
1.5 Grams

2.5 Grams

PN

Tests of Between-Subjects Effects

Dependent Variable: Clear value of film

Type llI
Sum of Mean Noncent. | Observed
{ Source Squares | df | Square F Sig. | Parameter Power®
corected 197.500°| 3 | 65833 | 21944 [ 006 | 65833 983
Intercept 10224.500 | 1 $10224.500 | 3408.167 {.000 | 3408.167 1.000
HYDRO 12500 | 1 12.500 4.167 |.111 4,167 .347
MET 180.500 | 1 180.500 60.167 |.001 60.167 1.000
HYEPFRO 4.500 | 1 4.500 1.500 |(.288 1.500 .159
Error 12.000 | 4 3.000
Total 10434.000 | 8
Corrected
Total 209.500 | 7
a. Computed using alpha = .05
b. R Squared = .943 (Adjusted R Squared = .900)
ST 204
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3. uuudniiala 4.6

-~ - x ) ) ) ) 1 &
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(Tasl¥Yomaudivariu) (udal

N3
A B c

73, 60 88, 31 68, 41
89, 45 78, 78 79, 59
82, 93 48, 62 56, 68
43, 36 91, 76 91, 53
80, 77 51, 96 71, 79
73, 66 85, 80 7, 15

74, 56 87

77

smaroufl o = .05 PinzunmaluvosinFowds 3 ngueitafuotnadlupsi iy
wioly sz qUliinudnghs o aumowine o My

SPSS. Commands uas Output

ONEWAY
score BY teacher
ISTATISTICS HOMOGENEITY
IMISSING ANALYSIS

/POSTHOC = DUNCAN ALPHA(.05).
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score

73

60

89

45

82

93

43

36

. 80

77

73

66

88

3

78

78

48

62

91

76

teacher

10

11

12

13

14

15

16

17

18

19

20[

score

51

96

85

80

74

56

77

68

41

79

59

56

68

91

53

71

79

71

15

87

teacher

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40
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Oneway

Test of Homogeneity of Variances

Levene
Statistic df1 df2 Sig.
Math
score 012 2 37 .988
ANOVA
Sum of Mean
_ Squares df Square F Sig.
Math Between
score Groups 335.353 2 | 167.676 | .465 | .632
G | 13340747 | 37 | 360804
Total 13685.100 39

Post Hoc Tests

Homogeneous Subsets

Math score
Duncan®?
Subset for
alpha =
Math .05
| teacher N 1
Teacher C 13 64.46
Teacher A 12 68.08
Teacher B 15 71.40
_ﬂg. .383

Means for groups in homogeneous
subsets are displayed.

a. Uses Harmonic Mean Sample Size = 13.220
b. The group sizes are unequal. The harmonic mean of the group sizes is used.
Type | error levels are not guaranteed.
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nanl 3 um uissumldnnmeunsiu ddhleulwmeunden 9 fu il
andsfmunuldlddiuilfmeuawlimdontuluudecef waemey I
Famreumadefise 3 um 5 ¥ useiammunive oW

R

of oftou (block) 1 2 3
1 95 n 69

2 86 .85 68

3 1 .62 51

4 7) 72 73

5 74 .64 44

firmua ‘5 .fv.lxﬁ = 7.6763 , CF = 7.4483

imljm

5 3
igle. = 22,6415 , ixlx?, = 37.6745
wihnthienzdenuisirveesdoysyeil (« = .05

SPSS Conlands uar Output

GLM
density BY formula time
IMETHOD = SSTYPE(3)
/INTERCEPT = INCLUDE
ICRITERIA = ALPHA(.05)
/IDESIGN = formula time .
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A\st204p410.sav

time formula density
1 1 1 .95
2 1 2 71
3 1 3 .68
4 2 E 1 .86
5 2 | 2 .85
6 2 3 68
7 3 1 71
8 3 2 62
9 3 3 51
10 4 1 72
11 4 2 72
12 4 3 73
13 5 1 74
14 | 5 2 64
15 5 3 44
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General Linear Model

Between-Subjects Factors

Value
Label N
Bread
formula
Baking
order

G ON=2WN -

W W WwwWwwLtho O,

Tests of Between-Subjects Effects

Dependent Variable: Bread density

Type lll

Sum of Mean Noncent. | Observed
Source Squares | df Square F Sig. | Parameter | _Power®
Corrected b
Model .185 6 | 3.090E-02 | 5.809 | .013 34.852 .887
Intercept 7.448 1 7.448 | 1400 |.000 | 1400.061 1.000
FORMULA | 8.657E-02 2 |4.329E-02 | 8.137 [ .012 16.273 .848
TIME 9.884E-02 4 |2.471E-02 | 4.645 | .031 18.579 .738
Error 4 256E-02 8 |5.320E-03
Total 7676 | 15
Corrected
Total 228 | 14
a. Computed using alpha = .05
b. R Squared = .813 (Adjusted R Squared = .673)
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5. A1aA19N 5.8

P o &
081¥5.8 hn{agafwemm INT sample regression equation WRZVIANOL lack of fit

2 2 2 3 3 4 S S5 6 6 6
yla4a 3 8 18 2 24 24 18 13 10 16

SPss Commands uaz Output

COMPUTE x2 = x*x .
EXECUTE .
GRAPH
ISCATTERPLOT(BIVAR)=x WITH y
IMISSING=LISTWISE .
REGRESSION
IMISSING LISTWISE
ISTATISTICS COEFF OUTS R ANOVA
/CRITERIA=PIN(.05) POUT(.10)
INOORIGIN
/IDEPENDENT y
/METHOD=ENTER x .
REGRESSION
IMISSING LISTWISE
ISTATISTICS COEFF OUTS R ANOVA
/{CRITERIA=PIN(.05) POUT(.10)
INOORIGIN
IDEPENDENT y ,
IMETHOD=ENTER x x2 .
REGRESSION
IMISSING LISTWISE
ISTATISTICS COEFF OUTS R ANOVA -
/CRITERIA=PIN(.05) POUT(.10)
INOORIGIN -
/DEPENDENT y
IMETHOD=ENTER x2 .
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Graph

30—
]
@ o a
204
104
> 0 , . : .
1 2 3 4 5
X
Regression
Variables Entered/Removed®
Variables | Variables
Model Entered Removed Method
1 xa Enter
a. All requested variables entered.
b. Dependent Variable: Y
Model Summary
Std.
Error of
Adjusted the
Model R R Square | R Square | Estimate
1 .3962 .156 083 7.31

a. Predictors: (Constant), X

ST 204
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ANOVAP

Sum of Mean _
Model Squares df Square F Sig. |
1 Regression 89.286 1 89.286 [1.669 | .229°
Residuat 481.442 9 53.494
Total 570.727 | 10
a. Predictors: (Constant), X
b. Dependent Variable: Y
Coefficients?
Standard
ized
Unstandardized Coefficie
Coefficients nts
Std.
Model B Error Beta t Sig. |
1 {Constant) 7.403 5.952 1.244 | 245
X 1.786 1.382 .396 [1.292 | .229
a. Dependent Variable: Y
Variables Entered/Removed®
Variables [ Variables
Model Entered Removed Method
1 X2, X2 Enter
a. All requested variables entered.
b. Dependent Variable: Y
Mode! Summary
Std.
Error of
Adjusted the
Model R R Square | R Square | Estimate
1 .9412 .885 .856 2.87

a. Predictors: (Constant), X2, X

321



ANOVAP

Sum of Mean
Model _ Squares | df Square F Sig. |
1 Regression 504.937 2 252.468 | 30.7 | .0002
Residual 65.790 8 8.224
Total 570.727 | 10
a. Predictors: (Constant), X2, X
b. Dependent Variable: Y
Coefficients?
Stand
ardized
Unstandardized Coeffic
Coefficients ients
Madel B Std. Error Beta t Sig.
1 (Constant) -43.776 7.568 ) -5.785 |.000
X 32.216 4.315 7136 | 7.467 |.000
X2 -3.804 535 | -6.794 | -7.109 |.000
a. Dependent Variable: Y
Regression
Variables Entered/Removed®
Variables | Variables
Model Entered Removed Method
1 X22 . | Enter
a. All requested variables entered.
b. Dependent Variable: Y
Mcdel Summary
Std.
Error of
Adjusted the
Model R R Square | R Sguare | Estimate
1 .2852 .081 -.021 7.63

a. Predictors: (Constant), X2
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ANOVAP

Sum of Mean ‘
Model : Squares df Square F Sig.
1 Regression 46.422 1 46.422 797 | .395°
Residual 524.305 9 58.256 :
Total 570.727 10
a. Predictors: (Constant), X2
b. Dependent Variable: Y
Coefficients?
Standardi
zed
Unstandardized Coefficie
Coefficients nts
Model B Std. Error Beta t Sig.
1 (Constant) 11.584 4,037 2.869 .019
X2 160 179 .285 .893 .395
a. Dependent Variable: Y
A\st204e58.say X X2
1 2 4 4.00
2 2 3 4.00
3 . 8 4.00
4 3 18 9.00
5 3 22 9.00
6 4 . 24 16.00
7 5 24 | 25.00
8 5 18 25.00
9 6 13 36.00
10 6 10 36.00
" 6 16 36.00

ST 204
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Initial speed : X

20

20

30

30

30

40

40 50

50 60

Stopping distance : y

SPSS Commands uaz Qutput

COMPUTE sqy.= SQRT(y) .
EXECUTE .

GRAPH
/SCATTERPLOT(BIVAR)=x WITH y
MISSING=LISTWISE .

GRAPH
ISCATTERPLOT(BIVAR)=x WITH sqy
/MISSING=LISTWISE .

REGRESSION
IMISSING LISTWISE
ISTATISTICS COEFF OUTS R ANOVA
ICRITERIA=PIN{ 05) POUT(.10)
/NOORIGIN

/DEPENDENT y
JMETHOD=ENTER X .

REGRESSION

IMISSING LISTWISE

. ISTATISTICS COEFF QUTS R ANOVA
ICRITERIA=PIN{.05) POUT(.10)
INOORIGIN
/DEPENDENT sqy
/METHOD=ENTER x .

v

324

163 267 39.2 635 513 984 657 104.1 155.6 217.2

A\st204ex514 sav
y ! sqy
4 20 16.30 . 404
3| 0. 3920 6.26 ‘
T w s 7]
5 30 5130 | 716 \‘
6 0 9840 992
7 40 65.70 8.1
Y 50 104.10 1020 |
Y 50 155.60 ‘! 12.4715
60 217.20 1474 |
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Regression

Variables Entered/Removed®

Variables | Variables
Model Entered Removed Method
1 X2 . | Enter
a. All requested variables entered.
b. Dependent Variable: Y
Model Summary
Std.
Error of
Adjusted the
Model R R Square | R Square | Estimate
1 9372 .879 .864 23.0838
a. Predictors: (Constant), X
ANOVAP
. Sum of Mean
Model Squares df Sguare F Sig.
1 " Regression | 30914.92 1 | 30914.92 58.017 .0002
Residual 4262.898 532.862
Total 35177.82 9
a. Predictors: (Constant), X
b..Dependent Variable: Y
Coefficients?
Standardi
zed
Unstandardized Coefficie
Coefficients nts
Model B Std. Error Beta 1 Sig.
1 (Constant) -78.334 22.503 -3.481 .008
X 4.382 .575 937 7.617 .000

a. Dependent Variable: ¥
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Regression

Variables Entered/Removed®

Variables | Variables
Model Entered Removed Method
1 X . | Enter
a. All requested variables entered.
b. Dependent Variable: SQY
Model Summary
Std,
Error of
Adjusted the
Model R R Square | R Square | Estimate
1 9622 .925 .916 .9563
a. Predictors: (Constant), X
ANOVAP
Sum of Mean
Model Squares df Square F Sig.
1 Regression 90.456 1 90.456 98.909 .0002
Residual 7.316 8 915
Total 97.773 9
a. Predictors: (Constant), X
b. Dependent Variable: SQY
Coefficients?
Standardi
zed
Unstandardized Coefficie
Coefficients nis
Model B Std. Error Beta t Sig.
1 (Constant) -.167 .932 -179 .863
X .237 .024 .962 9.945 .008
a. Dependent Variable: SQY

ST 204
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yi = fo + fixi + faxai + Eiyi=1, ..., 13

LEAIHININ mqua:ﬂ’;’m‘ﬁu‘[aﬁmm’mu 13 Al

o
MAMTNN 5.4

ﬂ%‘ﬁ X1 X2 y
1 152 50 120
2 183 20 141
3 171 20 124
4 165 30 126
5 158 30 117
6 161 50 129
7 149 60 123
8 158 50 125
9 170 40 132

10 153 55 123
11 164 40 132
12 190 40 155
13 185 20 147
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5PSS

Commands uar Output

REGRESSION
/DESCRIPTIVES MEAN STDDEV CORR SIG N
/MISSING LISTWISE
/STATISTICS COEFF QUTS CI BCOV R ANOVA
{CRITERIA=PIN(.05) POUT{(.10)
INOQORIGIN
/{DEPENDENT vy
/IMETHOD=ENTER x1 x2
/RESIDUALS DURBIN .

i x1 ! X2 ? ¥ ‘
SR (Y R - W‘, e
1 152 50 120
5 183 | 20 | 141
I I Bl R
3| 171 20 | 124
e e
4! 165 | 30 | 126 |
S S ,,,,l,,,, I [
5 158 | 30\ 117
S N
6| 161F 5o§ 129
— _ SR S — _— ,,,,l . — - L \
7| 1491 80 | 123 |
e T - N
8 158 ' 50 | 125 |
95 17°i 4ej 132 |
10 | 183 | 55 | . 123 |
e e R
| 164 40 | 132 |
" - =
12 | 190 | 40 | 155
. ] - ;
- 1 | YJ
13 185\ 20 | 147 |

B:\s204ex515.sav
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Regression

Descriptive Statistics

Std.
Mean Deviation N
Blood
pressure 130.31 11.13 13
weight 166.08 13.16 13
Age 38.85 13.87 13
Correlations
Blood
pressure weight Age
Pearson Blood
Correlation  pressure 1.000 903 -362
weight .903 1.000 -.700
Age -.362 -.700 1.000
Sig. Blood
1 (1-tailed) pressure 000 112
weight .000 . .004
Age 12 .004
N Blood
pressure 13 13 13
weight 13 13 13 1
Age 13 13 13
Variables Entered/Removed®?
Variables | Variables
Model Entered Removed Method
1 Age,
weighta Enter
a. All requested variables entered.
b. Dependent Variable: Blood pressure
Model Summary?
Std. Error
' Adjusted of the Durbin-
Model R R Square | R Square Estimate | Watson
1 .9792 .958 .949 2.51 2.213

a. Predictors. (Constant), Age, weight
b. Dependent Variable: Blood pressure
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ANOVAP

Sum of Mean
Model Squares | df | Square F Sig.
1 Regression 1423.838 2| 711919 | 113.13 .000%
Residual 62.931 |10 6.293
Total 1486.769 |12
a. Predictors: (Constant), Age, weight
b. Dependent Variable: Blood pressure
Coefficients? )
Stand
ardized
Unstandardized | Coeffi 95% Confidence
Coefficients cients o Interval for B
— 2
Lol (n
e - = g
D m w ‘g QB’ 5 § 5
3 g @ S8 53
= »
(Constant) | -65.10 | 14.94 -47356 | .001 | -98.40 | -31.801
weight 1.077 077 1.274 |13.975 | .000 905 1.249 |
— Age 425 073 530 | 5.815 | .000 .262 .588
a. Dependent Variable: Blood pressure
Coefficient Correlations?
Model Age weight
1 Correlations  Age - 1.000 .700
weight .700 1.000
Covariances = Age 5351E-03 |3.948E-03
weight 3.948E-03 [5.940E-03
a. Dependent Variable: Blood pressure
Residuals Statistics?®
Std. 1
Minimum | Maximum Mean Deviation N
Predicted
Value 117.84 156.57 130.31 10.89 13
Residual -3.59 4.33 | -2.51E-14 2.29 13
Std.
Predicted -1.144 2.411 .000 1.000 13
Value
Std.
Residual -1.432 1.725 .000 913 13

a. Dependent Variable: Blood pressure
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wv.nnum'luﬁ'mmmﬂu*nmQ:H'L:'v’umguﬁnma'lum1mu‘1un1'mga
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vpatulTldnToly m‘lé’mmsml.ﬁ'udwquﬁnmwa«‘fﬂﬁnnmuga 4.5 ¥nvn
X - ~ dn o ¥
#udu uszaugavesduantaniiuims 12 du waUI N Rt

t (4 -“
x;tﬁumguunm (W) | 9 12 23 31 33 39 43 62 9.6 126 161 258
y: MG (W) | 18 26 32 36 44.5 35.6 40.5 57.5 67.3 84 67 87.§

n) 998414 Scatter diagram u‘»ﬁagiwmﬂi Straight line model W38}

v) Fravuald x = log‘ax Wee y' = logwy 995419 Scatter diagram ¥89 (x', y')
x'l— 05 .08 .36 .42 .52 .59 .63 .79 .98 1.10 1.21 1.4t

y'| 1.26 1.41 L.51 1.56 1.65 1.55 1.61 1.76 1.83 1.92 1.83 1.94

f) 3N model Y, = B, + fix + E, 3IN Sample regresion equation

COMPUTE xp = LG10(x) .

EXECUTE .

COMPUTE yp = LG10{y) .

EXECUTE .

GRAPH
ISCATTERPLOT(BIVAR)=x WITH y
IMISSING=LISTWISE . .

GRAPH
ISCATTERPLOT(BIVAR)=xp WITH yp
IMISSING=LISTWISE .

REGRESSION
IMISSING LISTWISE
ISTATISTICS COEFF OUTS R ANOVA
ICRITERIA=PIN(.05) POUT(.10)
INOORIGIN
IDEPENDENT y
IMETHOD=ENTER x .

REGRESSION
IMISSING LISTWISE
ISTATISTICS COEFF OUTS R ANOVA
ICRITERIA=PIN(.05) POUT(.10)
INOORIGIN
IDEPENDENT yp
IMETHOD=ENTER xp .
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ANs204p51.sav

X y Xp yp
1 .90 18.00 | -0457575 | 1.2552725
2 1.20 26.00 0791812 | 1.4149733
3 2.30 32.00 3617278 | 15051500
4 3.10 36.00 4913617 | 1.5563025
5 3.30 44.50 5185139 | 1.6483600
6 3.90 35.60 5010646 | 1.5514500
7 4.30 40.50 6334685 |  1.6074550
8 6.20 57.50 7923917 | 17596678
9 9.60 67.30 9822712 | 1.8280151
10 12.60 84.00  1.1003705 |  1.9242793
1 - 16.10 67.00  1.2068259 |  1.8260748
12 25.80 8750 1.4116197 |  1.9420081
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Graph
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Regression

Variables Entered/Removed?

Yariables | Variables
Model | Entered | Removed | Method
1 X Lnter
a. All requested variables entered.
b. Dependent Variable: Y
Model Summary
Std.
Error
R Adjusted of the
Model R Square | R Square | Estimate
1 83907 793 772 10.8291
a. Predictors: (Constant), X
ANOVAP
Sum of Mean
Model Squares | df Square F Sig.
Regression | 4480.564 1 | 4480.564 | 38208 | .000¢
1 Residual 1172.685 | 10 117.268
Total 5653.249 | 11
a. Predictors: (Constant), X
b. Dependent Variable: Y
Coefficients®
Unstandardized | Standardized
Coefficients Coefficients
Std.
Model , B Error Beta t Sig._
1 (Constant) | 29.513 [4.516 65 | .00
xn 2.707 | .438 .890 6.2 |.00

a. Dependent Variable: Y
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Regression

Variables Entered/Removed®?

Variables | Variables
Model | Entered | Removed | Method
1 log 10 (x)¢ Enter
a. All requested variables entered.
b. Dependent Variable: log 10 (y)
Model Summary

Model

R | Square

R Adjusted
R Square

Std. Error of
the Estimate

1

966

934

927

5.67488934E-02

a. Predictors: (Constant), log 10 (x)

ANOVAP
Sum of Mean
Model Squares df Square F Sig. |
Regression .455 ! 455 | 141.38 | .000¢
i Residual 3.220E-02 10 | 3.220E-03
Total 488 11
a. Predictors: {Constant), log 10 (x)
b. Dependent Variable: log 10 (y)
Coefficients?
Stan
dar
dized
Coef
Unstandardiz ficie
ed Coefficients nts
Std.
Model B Error | Beta t Sig. |
. (Constant) | 1.340 .031 43.410 | .000
. tog 10 (x) .460 .039 1§ .966 | 11.890 | .000

a. Dependent Variable: log 10 (y})
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